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" SECTION ‘A’

e correct answers are

highlighted in red colour. (MULTIPLE CHOICE QUESTIONS) — (M.C.0Os.) @@@7@ M@D[Ml_ﬁj @5
]

NOTE:

i) This section consists of 20 part questions and all are to be answered. S - -
Each question carries one mark. Write this Code No. in the Answerscript.

i) Do not copy the part questions in your answerbook. Write only the answer in full against the proper
number of the question and its part.

iii) The code of your question paper is to be written in bold letters in the beginning of the answerscript.

iv) The use of calculator is allowed. All notations are used in their usual meanings.

1. Choose the correct answer for each from the given options:

i)

i)

Vi)

vii)

viii)

iX)

The probability of getting the tail in a single toss of a coin is:

1 1 2
* - * - * —_ * 2
3 2 3
L n+11!
Simplified form of is:
n-11
n-1 n+1
* — * nn-1 * nn+l * —
n+1 n-1
2y 10
The middle term in the expansion of ? is
* 3rd * 4lh * 5lh *
4
l-wo-0° =
* -1 * 2 * 4 *
If the measurements of the sides of a triangle ABC are 3 units 4 units and 5 units, then 2s = :
* 6 unit * 8 units * * 16 units
If A’ is a non-singular matrix, then A=
Adj A . Adj A . |Adj Al . A
A A A Adj A
The sum of the roots of X* —15X+6=0 is:
15
* _15 * * 3 * ?
1 .
V1+cot’ 6
* cosecd * sing * cosec’d * sin’ @
>Nn=:
. n n+l . n+1 . n? n+l’ . nn+2
2 2 2 2

If cOS@ is positive and SIN @ is negative, then o @ lies in this quadrant:
* 1St * 2nd * 3I’d * 4th
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xii)

xiii)

Xiv)

XV)

XVi)

XVii)

XViii)

Xix)

XX)

Code Nozli-05

Write this Code No. in the Answerscript.

2 0 O
Thematrix |0 -2 0| isa:
0 0 2
* Scalar matrix * Null matrix * * Row matrix

The multiplicative inverse of C, d is

. C —d . —C d
(cz+d2’cz+d2j (c2+d2’c2+d2j

. c —d j . ( —C d j
c?—d?’'¢?—d? c?—d?’'¢c?—d?

The equation having the roots @ and o’ is:

* * x> —x+1=0 = X*+x-1=0 = x> —x-1=0

7
is equal to:
(2’ 2]

* 315 * 630 * 1260 * 2520

The nth term of the sequence 2,4,6,8,........... is:

* 2“ * * i * i
2" 2n

If Z=X+1y, then the real part of Z+7is:
* * 2ix * 2y * 2iy

The period of tan @ is:

3_” * % * * 27Z'

2

*

3 5
If is a singular matrix, then A4 will be:
9 -1
* * 27 * -15 * 27

If Discriminant of a quadratic equation ax’ +bx+c=0, a=0, is zero, then the roots of the equation are:

* Irrational and equal * Real and equal

* Complex and unequal * Rational and unequal

If A= 0,1, B= 21 and C= 2,3 ,then Ax B(NC =:

* ¢ * 13,01 = 0,2,12 * 23,11




